

#### Marsascala, South





Total Rooms: 7

Bathrooms: 2

Reference No: 240011144-167

Floor Area (m<sup>2</sup>) : **116** 

Bedrooms: 3

## **Apartment - For Sale - Marsascala**

MARSASCALA - New on the market is this ready built 3 bedroom apartment comprising of a Kitchen/dining, living room, 3 bedrooms, main with an en-suite shower, main bathroom and a front and back balcony. The apartment will be sold finished excluding bathrooms and internal doors. Call now for an immediate viewing. Freehold

### **Features**

- 🗸 Lift
- Water Utility
- Gypsum Plastering
- Double Glazed
- Balcony

### Rooms

- Kitchen/Dining : 5 x 4 m (20 m2)
- Living : 3 x 2.64 m (7.92 m2)
- Double Bedroom : 3.65 x 4.41 m (16.1 m2)
- Double Bedroom : 3.6 x 3.3 m (11.88 m2)
- Double Bedroom : 3.41 x 2.78 m (9.48 m2)
- Shower Ensuite : 3 x 0.96 m (2.88 m2)
- Bathroom : 2.1 x 2.48 m (5.21 m2)
- Open Space : 4.82 x 1.3 m (6.27 m2)
- Open Space : 4.55 x 1.5 m (6.82 m2)

- Marble Floor
- Electricity Utility
- Skirting
- Terrace

# Gallery





Ludwig D' Amato RE/MAX Premium - St Julian's

M: 79823374 E: ludwig@remax.com.mt T: 25780000

**RE/MAX Premium - St Julian's** 72/73,Gorg Borg Olivier Street, St Julian's, Malta